phép cong phan s6 (hdn sd)
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phép cong phan sb (h5n sé)

Tén: Ngay thang: Piém:
5 5 85 13 1 1 37 7
—+—-=——==1= 3=+ —-=—=3—
9 8 7 72 2 5 1 10
2 1 13 6 3 3 1
— 4+ — = — —F+—-==—=1=
9 2 18 8 4 2 2
4 2 26 5 3 I 39 19
-t —=—=1— I-+1l-=—=2—
7 3 21 21 4 5 0 20
3 4 11 1 2 2 9 4
-t =—=—=1— I-—+=-===1=
5 8 10 10 5 5 5 5
1 4 23 11 I 3
= =1— — 4+ = =
14 6 1 112 12 6 2
2 3 71 35 5 1 43 1
—+]l-===1= —+l-=—==2—
9 4 3 36 7 3 1 21
2 5 74 4 4 1
= =90 — 4+ =
15 7 5 235 8 2 :
2 4 46 1 1 1 19 7
—F+—-=—=1— —+lz-=—==1=
9 5 5 45 4 3 1 12
3 3 25 1 2 2 24
-+ =-=—=2— -+ - = —
4 9 1 12 7 5 5
2+4_1 31+2_67_313
4 8 2 9 18 18
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